10

E‘TESt11

- 50 tens + 8 units =

- 3+34+3+3+3+3+3+3=__ .24
sofim=cm 25cm 2
£1.00-45p = p 55p
10x0=8x L

: 489 + 20 = 509
1kg=8509 - g 350g

1 4

1= T+ 2
How many days in August
and September together? e 81
85¢cm + o cm =1m i5cm

5 more than 17 minus 8 S &

Add the even numbers

between 9 and 15. 38

How many 10ps are

27.10ps

worth £2.707
8x5=5x | —— 8
What is the
time 3 hours
\ before the
time on the
clock? Use
_ amorpm. _ i0am
afternoon
If 36 is divided by a number
the answer is 9. __
What is the number? o .a
. Find the cost of five
- toothbrushes at 70p each. £350
© One-tenth of 460 4
From 2m take 75cm. Amo 25am
Find the difference between _
Tip

five Sps and seven 2ps.

42

10

Schofield & Sims

How many stickers are there
in 12 packets, each containing

20 stickers? 240

Nyasha has 18p, which is 5
of her money. How much is
half of her money?

A length of rope measures
Tm 24cm. It is cut into two
equal pieces. Find the length

of each piece. _B2am

By how many grams is

parcel B heavier than parcel A? ____ = 809

George’s birthday is in
October. Mia is 5 months
older than George. In which
month is her birthday?

How much more than
£1.00 did Leah spend
after paying for 13 |§g of
onions at 40p per 2kg?

A ba1th, when full, holds 60L.
it is 7 full. How many more
fitres are required to fill it?

What number is the arrow
pointing t0?

Maisy changes eighteen 1ps
and six 2ps for 5ps. How many

5ps did she receive? ..B6.5ps

Which of these angles,
A, B, CorD, is less than
a right angle?

o £

4 4ay=

6 1-

10 tkg= -

‘4. Decrease £1.35 by 29p.

9 How many minutes in
22 hours?
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614 = i tens 4 units

“2. Halfof(15-7)=

'3 130cm + 70cm = m

guarters

‘5 (Bpx8)+2p=

S

7 24+4=3x
8 £100-16p= ' p

9 630-50=

g+ /750g

- What is the value of the digit

underlined in the number 8§3?,,l,,
‘20 To 23p add 17p and 5p.

'3: Write the missing sign +, -

x or + in place of the @.
8 units = 52

5. What is the missing number

in this sequence?
48, 42, 36, 30, &

‘6 By how many centimetres

is 2Zm more than 7 m?

7 How many times can 5 be

- subtracted from 407

'8 Divide £0.48 by 8.

Write the answer in pence.

£1.06

150min

36

43

2m - 2
19
50p
3
10
.2 ?ii
84p
580
2509 4
&0 _f
45p
S
24
_150em
8
6p
1w

SECTION 3 | Test 12

A piece of tape measures 40cm.

Find the length in metres of

10 pieces. _4m

Oscar practises his recorder

for % hour. He begins at

guarter to twelve a.m.

Write in words what time

he finishes, using a.m.

or p.m. . twelve thirty p.m.
{or half past twelve p.m.)

How many yoghurts are
bought for £6.00? 24

Yoghurts
6 for £1.50

A side of a square measures .
92 cm. Find the total length
of its sides. _.38cm
11 of water has a mass of 1kg.
What is the mass in grams of
3 litre of water? 500g
£2.38 has the same value
as £2, three 10ps and some
2ps. How many 2ps? 42ps
Ahmed measures his folder,
which is 50cm long. How
many folders measure 7m? I

A sum of money is divided into

two parts. One part is worth 7p

and the other is worth three &
times as much. What is the
sum of money? 28p
The mass of each of three

parcels is 420g, +kg and

390g. By how many grams

is the heaviest parcel greater

than the lightest? 1709

Which of the
angles A, B, C,
D in this shape

are greater than
Na right angle?




